# COMPARATIVE STATEMENT / PURCHASE PROPOSAL / RECOMMENDATIONS

#### LOT / GROUP / PACKAGE - A

# (COMPLETE VENUE SETUP FOR CONVOCATION FOR 8,750 GUESTS) PROCUREMENT OF SERVICES FOR CONVOCATION 2021

IFB / NIT No. DUHS/DP/2021/162 Dated 28 October 2021

Technical Bids opened on 16-11-2021 and Financial Bids opened on 18-11-2021

	Description  a. STAGES AND VIP AREA MADE BY TRUSSING with wall panels for 1,000 guests b. FRILL PLEATED MARQUEE with wall panels to cover remaining Convocation Pandal for 7,750 Guests	Unit / Qty.		Badar Expo	Solutions	Darbar Caterers & Decorators		
S#				Rate Per Unit	Total Amount	Rate Per Unit	Total Amount	
1		8750	Guests	Lump Sump	2,500,000.00	199.00	1,741,250.00	
2	Canopy for Line-up Area	1	No.	250,000.00	250,000.00	129,000.00	129,000.00	
3	Partition wall between Governor, Vice chancellor and Faculty changing Room	1	No.	10,000.00	10,000.00	30,000.00	30,000.00	
4	Presidential Chair	1	No.	7,000.00	7,000.00	2,900.00	2,900.00	
5	Semi - Presidential Chair	2	Nos.	5,000.00	10,000.00	2,900.00	5,800.00	
6	VVIP Chairs	6	Nos.	2,000.00	12,000.00	1,200.00	7,200.00	
7	Head Table to seat 9 persons on stage with Stairs with railing (Two Sides) Stairs should be in Wooden & in good quality (with flower array / decoration and with table cover and skirting)	1	No.	400,000.00	400,000.00	45,000.00	45,000.00	

ENGR. ABOUL RAHIM KHAN

Project Director Works & Services
Dow University of Health Sciences

Mr. Muhammad Khurram Khalid (Member) Head of Internal Audit Institute of Business Administration Prof. Dr. Kartar Dawani (Chairman)

Pro-Vice Chancellor
Dow University of Health Sciences

0,11	Deposituation (Section 1997)		104.	Badar Expo	Solutions	Darbar Caterers & Decorators		
S#	Description  Arrangement on Main Stage (already available) With Carpet, Branding and paneling for stage walls, Stairs and railings on both sides of Main Stage, Tables with Fresh Flower Arrangements for main stage and VIP area.	Unit	/Qty.	Rate Per Unit	Total Amount	Rate Per Unit	<b>Total Amount</b>	
8		1	No.	400,000.00	400,000.00	40,000.00	40,000.00	
9	Side Stages Size 40' x 60', 6 feet height: Sitting arrangement on both sides of stage with wooden floors, stairs with railings	2	Nos.	400,000.00	800,000.00 400,000.00		296,000.00	
10	Spotless Carpeting in main venue (Opposite to Stage till First line of Guest), skirts duly stitched. Red runners in walkways where required. (As per approved sample)	1	Setup	400,000.00			145,000.00	
11	Sofa Sets (White Leatheride) double seats for 50 Guests and VVIPs duly Cordoned- off	50	Seats	3,000.00	150,000.00	1,400.00	70,000.00	
12	Center Tables with fresh flowers for Sofa Sets	15	Nos.	2,000.00	30,000.00	650.00	9,750.00	
13	Complete Grand Table setup, paneling, carpeting and trussing for VIP Guests along with waiter service and lunch setting	100	Guests	3,000.00	300,000.00 950.	950.00	95,000.00	
14	Foamy Chairs with Bows and Chair Covers For Students and Faculty (according to colors of Institutes)	3200	Guests	35.00	112,000.00	95.00	304,000.00	
15	Acrylic Chairs with Foamy Seat for parents	5450	Guests	45.00	245,250.00	125.00	681,250.00	
16	Duct Type Air Condition System (50 Ton)	8	Nos.	125,000.00	1,000,000.00	105,000.00	840,000.00	
17	Pedestal Fans (Good Quality & Soundless)	150	Nos.	400.00	60,000.00	720.00	108,000.00	
18	SIGN BOARDS for each Program with seating arrangement to guide students to sit 3'(w)x 2'(h)x 6'(tall) (As per approved Sample)	36	Nos.	1,000.00	36,000.00	590.00	21,240.00	
19	Standing-up Wooden Direction Signs Boards size 3' x 5' or better, 6 feet tall	40	Nos.	1,500.00	60,000.00	1,200.00	48,000.00	

ABDUL RAHIM KHAN

Mr. Abdul Rahim Khan (Member) Project Director Works & Services Dow University of Health Sciences

Mr. Muhammad Khurram Khalid (Member) Head of Internal Audit Institute of Business Administration

04	Description Pair of SP-4	Unit / Qty.		Badar Expo	Solutions	Darbar Caterers & Decorators		
S#				Rate Per Unit	Total Amount	Rate Per Unit	<b>Total Amount</b>	
20		6	Pairs	15,000.00	90,000.00	15,000.00	90,000.00	
21	02 Wireless and 02 Cordless Mics	2	Sets	10,000.00	20,000.00	5,000.00	10,000.00	
22	Rostrums with 02 Podiums Mics	4	Nos.	15,000.00	60,000.00	4,500.00	18,000.00	
23	SMD Screens Size 10' x 20' Mounted inside of the Tent with live & playback with all cabling, networking and operators, as required.	4	Nos.	75,000.00	300,000.00	80,000.00	320,000.00	
24	FOOD With buffet arrangement along with Food Stations, Waiter Service, Crockery, Cutlery •Chicken Biryani (must be having the whole chicken) •Chicken Quorma (must be having the whole chicken) •Mix Vegetable (Potatos, Carrots, Peas, Tomato, Onions etc.) •Nan + Taftan •Balushahi, Medium Size, Minimum Quantity 10,000 Pieces (Dilpasand / Abdul Khaliq / Darbare-Shirin / Kasr-e-Shirin / Dhaka Sweets)	8750	Guests	480.00	4,200,000.00	650.00	5,687,500.00	
	TOTAL LOT / GROUP / PACKAGE - A				11,452,250.00		10,744,890.00	
	GRADING			SECOND LO	OWEST BID	FIRST LOV	WEST BID	

#### PURCHASE PROPOSAL / RECOMMENDATION / REMARKS

It is recommended that contract to be awarded to M/s. DARBAR CATERERS & DECORATORS at total value of Rs. 10,744,890.00, being the most advantageous bid received for the procurement of above services of COMPLETE VENUE SETUP (Lot/Group/Package - A) required for the Convocation 2021.

Mr. Abdul Rahim Khan

Works (Methber) Cciences
Project Director Works & Services
Dow University of Health Sciences

(Member) , achi Institute of Business Administration

#### COMPARATIVE STATEMENT / PURCHASE PROPOSAL / RECOMMENDATIONS

#### LOT / GROUP / PACKAGE - B

# (PHOTOGRAPHY, VIDEOGRAPHY AND LIVE PROJECTION) PROCUREMENT OF SERVICES FOR CONVOCATION 2021

IFB / NIT No. DUHS/DP/2021/162 Dated 28 October 2021

Technical Bids opened on 16-11-2021 and Financial Bids opened on 18-11-2021

	Description	Unit / Qty.		Badar Expo	Solutions	Hakim Sons Films		
S#				Rate Per Unit	Total Amount	Rate Per Unit	Total Amount	
25	1 Batch Group Photograph for each of the student (size 10" x 12")	2,500	Nos.	205.00	512,500.00	(i≠) .	-	
26	1 photograph of the student at the stage with degree (size 5" x 7")	2,500	Nos.	130.00	325,000.00	Sec .	-	
27	1 Profile portrait of the student with Convocation Gown (size 10" x 12")	2,500	Nos.	170.00	425,000.00	8 <b>2</b> 0	-	
28	2 Group photographs of the Institutes, matte mounted frame Size 16" x 20" (1 for concerned Institute 1 for Registrar Office)	80	Nos.	2,500.00	200,000.00	2	-	
29	Group shoot of committees with matte mount frame Size 16" x 20"	40	Nos.	2,500.00	100,000.00			
30	Event Photograph's soft copy on DVD and Executive Albums	4	Nos.	3,500.00	14,000.00	3.0	-	
31	Finished and agreed HD Video of the Event on a USB or Hard Drive.	1	Job	25,000.00	25,000.00	-	-	
	All Above Items (Complete Package cost on Lump Sum bsis)	2,500	Nos.	-	-	400.00	1,000,000.00	
	TOTAL LOT / GROUP / PACKAGE - B			ALL PERSONS TO A	1,601,500.00		1,000,000.00	
	GRADING			SECOND LO	OWEST BID	FIRST LO	WEST BID	

#### PURCHASE PROPOSAL / RECOMMENDATION / REMARKS

It is recommended that contract to be awarded to M/s. HAKIM SONS FILMS at total value of Rs.1,000,000.00, being the most advantageous bid received for the procurement of above services of PHOTOGRAPHY, VIDEOGRAPHY AND LIVE PROJECTION (Lot/Group/Package - B) required for the Convocation 2021.

ABDUL Trector
Department
No. Abdul Rahim Khan

Project Director Works & Services
Dow University of Health Sciences

Mr. Muhamined Khurram Khalid (Member)

Institute of Business Administration

#### COMPARATIVE STATEMENT / PURCHASE PROPOSAL / RECOMMENDATIONS

## LOT / GROUP / PACKAGE – C

#### (PRINTING MATERIAL)

### PROCUREMENT OF SERVICES FOR CONVOCATION 2021

IFB / NIT No. DUHS/DP/2021/162 Dated 28 October 2021

Technical Bids opened on 16-11-2021 and Financial Bids opened on 18-11-2021

	Description of the second of t			The Time Press (Private) Limited		
S#	Description	Unit / Qty.		Rate Per Unit	Total Amount	
32	Printing of Invitation Cards with Envelopes Size: 5.5" x 8.25"	7,500	Nos.	17.79	133,425.00	
	Card: 130 gram Art Card			um .		
	Printing: 4 + 2					
	Envelope: 6" x 9", Mat Paper 105 gram, 4 Color printing					
33	Printing of Convocation Book	2,500	Nos.	718.60	1,796,500.00	
	Size: A4					
	No. of pages: 300 (± 10 Pages)					
	Paper: 113 gram Matt paper	9				
	Printing: 4 + 4					
	Title Card: 300 gram Art Card with Matt Lamination Spot UV					
	Binding: Hot Glue Binding					
	Envelope: 90 gram Off-Set, White Color + 4 color printing.					
34	Degree Card with Ribbon	2,500	Nos.	12.00	30,000.00	
	Size: Legal Size; 145 gram paper, 2 Color Printing			1		
	Degree Ribbon: Blue Ribbon Bow					
35	Printing of Back-Drop Size: 12' x 40'	1	Nos.	15,826.00	15,826.00	
36	Printing of Pena flex with Convocation Design & Announcement Size: 3' x 6'	15	Nos.	592.00	8,880.00	
T	TOTAL LOT / GROUP / PACKAGE - C	<b>Design</b>			1,984,631.00	
	GRADING			SINGLI	E BID	

#### PURCHASE PROPOSAL / RECOMMENDATION / REMARKS

It is recommended that contract to be awarded to M/s. THE TIME PRESS (Private) LTD. at total value of Rs.1,984,631.00, being the most advantageous bid received for the procurement of PRINTING MATERIAL (Lot/Group/Package - C) required for the Convocation 2021.

ARDUL RAHIM KHAN

Mr. Abdul Rahim Khan (Member)

Project Director Works & Services
Dow University of Health Sciences

Mr. Muhammad Khurram Khalid

Institute of Business Administration

#### **ANNEXURE - 6**

# COMPARATIVE STATEMENT / PURCHASE PROPOSAL / RECOMMENDATIONS LOT / GROUP / PACKAGE – D

# (CONVOCATION APPAREL / CONVOCATION GOWNS WITH CAPS (RENTAL)) PROCUREMENT OF SERVICES FOR CONVOCATION 2021 IFB / NIT No. DUHS/DP/2021/162 Dated 28 October 2021

Technical Bids opened on 16-11-2021 and Financial Bids opened on 18-11-2021

S#	Description	Description Unit / Qty.		Rate Per Unit	Total Amount
37	Chancellor	1	No.		
38	Pro-Chancellor	1 No.			
39	Vice-Chancellor	1	No.		- /
40	Pro-Vice Chancellors	3	Nos.	RECEIVED FOR TH	
41	Registrar and Controller of Exams	2	Nos.	PACE	KAGE
42	VIP Gowns	15	Nos.	1	
43	Professor, Associate Professor, Assistant Professor Gowns (with Washing, Packing and Repairing)	700	Nos.		

Abdul Rahim Khan
W University (Member)
Project Director Works & Services

Dow University of Health Sciences

ABDUL RAHIM KHAN

Mr. Muhammad Khurram Khalid

Head of Internal Audit Institute of Business Administration RECIT & ONON Charles

#### **APPENDIX 6**

# COMPARATIVE STATEMENT / PURCHASE PROPOSAL / RECOMMENDATIONS

## LOT / GROUP / PACKAGE – E

(MEDALS AND SHIELDS)

# PROCUREMENT OF SERVICES FOR CONVOCATION 2021 IFB / NIT No. DUHS/DP/2021/162 Dated 28 October 2021

Technical Bids opened on 16-11-2021 and Financial Bids opened on 18-11-2021

w. E.A.	1000 A 100 A 1		101	Badar Expo	Badar Expo Solutions		
S#	Description  Shield (Best Graduates)	Unit	/ Qty.	Rate Per Unit	<b>Total Amount</b>		
44		28	Nos.	5,000.00	140,000.00		
45	Gold Medal	68	Nos.	1,800.00	122,400.00		
46	Silver Medal	62	Nos.	1,800.00	111,600.00		
47	Bronze Medal	68	Nos.	1,800.00	122,400.00		
48	Mementos / Shields (VIP's) Crystal Shield	15	Nos.	6,000.00	90,000.00		
49	Mementos For Chairpersons Glass Mementos	30	Nos.	4,000.00	120,000.00		
	TOTAL LOT / GROUP / PACKAGE -		706,400.00				
	GRADING	SINGL	E BID				

#### PURCHASE PROPOSAL / RECOMMENDATION / REMARKS

It is recommended that contract to be awarded to M/s. BADAR EXPO SOLUTIONS at total value of Rs. 706,400.00, being the most advantageous bid received for the procurement of MEDALS AND SHIELDS (Lot/Group/Package - E) required for the Convocation 2021.

Werks & Sarvines Department

Works & Sarvines Department

Abdul Rahim Khan

Project Director Works & Services
Dow University of Health Sciences

Mr. Muhammad Kharram Khalid Stati

Head of Internal Audit

Prof. Dr. Kartar Dawani (Chairman)

Pro-Vice Chancellor Dow University of Health Sciences

## CERTIFICATE

This is to certify that the prices are comparable to the financial estimates in respect of single technically qualified / responsive bids received for the "Procurement of Services for Convocation 2021" for Dow University of Health Sciences, Karachi in response to IFB/NIT No. No. DUHS/DP/2021/162 Dated 28-10-2021, for which Technical Bids opened on November 16th, 2021 and Financial Bids opened on 18 November 2021.

Muhammad Khurram Khalid (Member)

KHURRAM KHALID

Head of Internal Audit Institute of Business Administration (IBA) Karachi

Abdul Rahim Khan

Project Director, Works & Services, Dow University of Health Sciences, Dow Karachi.

Prof. Dr. Kartar Dawani (Chairman)

Pro-Vice Chancellor Dow University of Health Sciences, Karachi